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Show all work for the following problems. 7= g(, C\%S )
1. How many moles of water are produced if 3 6 moles of hydroge'h" rea'"’t”wﬂh 3 6 moles of oxygen?
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2. How my;,\ni\' mole23 oxf wate¥ lafr"e‘progu-ﬁ‘ed if 3.6 g of hydrogen react with 3.6 g of oxygen?
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3. How many grams of wate;jarezproduced 1f 36¢g of hydrogen react with 3.6 g of oxygen’7
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4, How many g'rjms of Water are produced if 3.6 éof Zo(glum hydro de react w1th 3.6 g of hydroghloric acid?
Limiting reactant: NaO# -~ 2 Nal| + olomee Nadh= ch?qa-g@ﬂ ,OOK” Hef= [g;g,‘}‘v“j 4 25.4c

\Mgu\w\ | s \\10 ;8O a0 0%
NaS% v ‘cé \od, "z,? ’Tbﬁhcﬂ SN

2.Log NaR o * ey

2 Hu{_*)_,yﬂ,q Dy " L& H,0
3 G.49SE Hel \wa W‘ c}*
5. What is the molarlty oPsodium hydroxide if 3.6 g is dlsslcl)\fwLL 11 200. 0 mL of water'7

6. What is the molarity of hydrochloric acid if 3.6 g is dissolved in 200.0 mL of water?

7. What is the molarity of hydrochloric acid if it is diluted from 1 L of 12 M concentrated acid and you now have
15 L7

8. What is the molarity of hydrochloric acid if 10 mL of it completely neutralizes with 45 mL of 2.0 M sodium
hydroxide?
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1. How many moles of water are produced if 3.6 moles of hydrogen react w1th 3 6 moles of oxygen?
Limiting reactant:
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2. How many moles of waté’fQ are produced if 3.6 g of hydrogen react with 3.6 g of oxygen?
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3. How many grams of wu‘?er are produced if 3.6 g of | 1ydro gen react with 3. 6g g of oxygen?
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4. How many grams of Wjatei} are prodlylgebcllplf 56 gof sodxum hydrox1de react with 3.6 g of hydrochloric acid?
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5. What is the molarity of %dlum hydroxide if 3.6 g is dissolved in 200.0 mL of water?

6. What is the molarity of hydrochloric acid if 3.6 g is dissolved in 200.0 mL of water?

7. What is the molarity of hydrochloric acid if it is diluted from 1 L of 12 M concentrated acid and you now have
1517

8. What is the molarity of hydrochloric acid if 10 mL of it completely neutralizes with 45 mL of 2.0 M sodium
hydroxide?



